1 5391

+ 8468

5 3204

+3184

9 4659

+5691

13 3252

+ 5627
Challenge:

! 5 3

+_ D26

Q13_

2 5409
+ 4370
6 3114
+ 4873
10 5440
+ 7368
14 3714
+ 5015
2 q3 0
+_382
9 6

15

2923

+ 4477

2350

+ 4328

6404

+ 3144

3005

+ 3757

6_7

+4_74
_020_

12

16

8617
+ 9580

5338
+ 4770

9017
+ 1146

1977
+ 2722

51

+_602
b_46



Answers -

question answer
1 13859
2 | 9779
3 7400
4 18197
5 6388
6 7987
7 6678
8 10108
9 10350
10 12808
n 9548
12 10163
13 9879
14 8729
15 6762
16 4699

Challenge.

5113 + 4026 = 5139

9880 + 9382 = 19 262

5627 + 4574 = 10 201

Bl -

5144 + 1602 = 6746




